
� No.174-10-1 �

No.174-10-1 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 10点）

(1) 13080− 6791 = (2) 45× 274 =

(3) 13952− 8987 = (4) 8877− 6570 =

(5) 89× 845 = (6) 14775− 7257 =

(7) 75× 444 = (8) 16466− 7319 =

(9) 5306 + 2576 = (10) 7487− 1117 =

� 13th-note �



� No.174-10-1 �

No.174-10-1 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 10点）

(1) 13080− 6791 = 6289 (2) 45× 274 = 12330

(3) 13952− 8987 = 4965 (4) 8877− 6570 = 2307

(5) 89× 845 = 75205 (6) 14775− 7257 = 7518

(7) 75× 444 = 33300 (8) 16466− 7319 = 9147

(9) 5306 + 2576 = 7882 (10) 7487− 1117 = 6370

� 13th-note �



� No.174-10-2 �

No.174-10-2 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 10点）

(1) 5010− 3027 = (2) 8294 + 4998 =

(3) 9535 + 9328 = (4) 9492− 3152 =

(5) 74× 427 = (6) 801× 38 =

(7) 4602 + 5827 = (8) 5154 + 6852 =

(9) 8438 + 2004 = (10) 76× 892 =

� 13th-note �



� No.174-10-2 �

No.174-10-2 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 10点）

(1) 5010− 3027 = 1983 (2) 8294 + 4998 = 13292

(3) 9535 + 9328 = 18863 (4) 9492− 3152 = 6340

(5) 74× 427 = 31598 (6) 801× 38 = 30438

(7) 4602 + 5827 = 10429 (8) 5154 + 6852 = 12006

(9) 8438 + 2004 = 10442 (10) 76× 892 = 67792

� 13th-note �



� No.174-10-3 �

No.174-10-3 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 10点）

(1) 956× 89 = (2) 36× 285 =

(3) 12× 53 = (4) 53× 470 =

(5) 65× 914 = (6) 16223− 9657 =

(7) 8227 + 5863 = (8) 5306 + 6305 =

(9) 18× 191 = (10) 647× 70 =

� 13th-note �



� No.174-10-3 �

No.174-10-3 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 10点）

(1) 956× 89 = 85084 (2) 36× 285 = 10260

(3) 12× 53 = 636 (4) 53× 470 = 24910

(5) 65× 914 = 59410 (6) 16223− 9657 = 6566

(7) 8227 + 5863 = 14090 (8) 5306 + 6305 = 11611

(9) 18× 191 = 3438 (10) 647× 70 = 45290

� 13th-note �



� No.174-10-4 �

No.174-10-4 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 10点）

(1) 288× 96 = (2) 10032− 4967 =

(3) 8437− 6057 = (4) 16030− 6438 =

(5) 18763− 9718 = (6) 4011 + 1453 =

(7) 4374 + 4879 = (8) 55× 84 =

(9) 3596 + 677 = (10) 7444 + 8162 =

� 13th-note �



� No.174-10-4 �

No.174-10-4 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 10点）

(1) 288× 96 = 27648 (2) 10032− 4967 = 5065

(3) 8437− 6057 = 2380 (4) 16030− 6438 = 9592

(5) 18763− 9718 = 9045 (6) 4011 + 1453 = 5464

(7) 4374 + 4879 = 9253 (8) 55× 84 = 4620

(9) 3596 + 677 = 4273 (10) 7444 + 8162 = 15606

� 13th-note �



� No.174-10-5 �

No.174-10-5 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 10点）

(1) 4319 + 2106 = (2) 9052− 884 =

(3) 58× 569 = (4) 233× 94 =

(5) 2957− 1658 = (6) 937× 63 =

(7) 5969− 3894 = (8) 28× 431 =

(9) 351× 91 = (10) 1128 + 7984 =

� 13th-note �



� No.174-10-5 �

No.174-10-5 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 10点）

(1) 4319 + 2106 = 6425 (2) 9052− 884 = 8168

(3) 58× 569 = 33002 (4) 233× 94 = 21902

(5) 2957− 1658 = 1299 (6) 937× 63 = 59031

(7) 5969− 3894 = 2075 (8) 28× 431 = 12068

(9) 351× 91 = 31941 (10) 1128 + 7984 = 9112

� 13th-note �



� No.174-10-6 �

No.174-10-6 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 10点）

(1) 6396 + 2462 = (2) 8366 + 8655 =

(3) 396× 38 = (4) 3600 + 354 =

(5) 9602− 8896 = (6) 5980 + 6288 =

(7) 5749 + 7307 = (8) 1702 + 2607 =

(9) 6717− 3202 = (10) 2193 + 2026 =

� 13th-note �



� No.174-10-6 �

No.174-10-6 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 10点）

(1) 6396 + 2462 = 8858 (2) 8366 + 8655 = 17021

(3) 396× 38 = 15048 (4) 3600 + 354 = 3954

(5) 9602− 8896 = 706 (6) 5980 + 6288 = 12268

(7) 5749 + 7307 = 13056 (8) 1702 + 2607 = 4309

(9) 6717− 3202 = 3515 (10) 2193 + 2026 = 4219

� 13th-note �



� No.174-10-7 �

No.174-10-7 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 10点）

(1) 5885− 4287 = (2) 313 + 3965 =

(3) 6549 + 9314 = (4) 12272− 5902 =

(5) 857× 83 = (6) 7038− 6599 =

(7) 16597− 9728 = (8) 48× 860 =

(9) 71× 283 = (10) 10074− 8930 =

� 13th-note �



� No.174-10-7 �

No.174-10-7 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 10点）

(1) 5885− 4287 = 1598 (2) 313 + 3965 = 4278

(3) 6549 + 9314 = 15863 (4) 12272− 5902 = 6370

(5) 857× 83 = 71131 (6) 7038− 6599 = 439

(7) 16597− 9728 = 6869 (8) 48× 860 = 41280

(9) 71× 283 = 20093 (10) 10074− 8930 = 1144

� 13th-note �



� No.174-10-8 �

No.174-10-8 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 10点）

(1) 7073 + 3780 = (2) 93× 596 =

(3) 47× 243 = (4) 3526− 2499 =

(5) 8851− 568 = (6) 11206− 3072 =

(7) 1084 + 6316 = (8) 1033 + 9873 =

(9) 13710− 7817 = (10) 8321 + 6023 =

� 13th-note �



� No.174-10-8 �

No.174-10-8 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 10点）

(1) 7073 + 3780 = 10853 (2) 93× 596 = 55428

(3) 47× 243 = 11421 (4) 3526− 2499 = 1027

(5) 8851− 568 = 8283 (6) 11206− 3072 = 8134

(7) 1084 + 6316 = 7400 (8) 1033 + 9873 = 10906

(9) 13710− 7817 = 5893 (10) 8321 + 6023 = 14344

� 13th-note �



� No.174-10-9 �

No.174-10-9 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 10点）

(1) 6294 + 4395 = (2) 612× 51 =

(3) 2225 + 1234 = (4) 10396− 6513 =

(5) 13273− 3789 = (6) 11754− 7065 =

(7) 959× 92 = (8) 4530− 3015 =

(9) 88× 537 = (10) 16× 112 =

� 13th-note �



� No.174-10-9 �

No.174-10-9 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 10点）

(1) 6294 + 4395 = 10689 (2) 612× 51 = 31212

(3) 2225 + 1234 = 3459 (4) 10396− 6513 = 3883

(5) 13273− 3789 = 9484 (6) 11754− 7065 = 4689

(7) 959× 92 = 88228 (8) 4530− 3015 = 1515

(9) 88× 537 = 47256 (10) 16× 112 = 1792

� 13th-note �



� No.174-10-10 �

No.174-10-10 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 10点）

(1) 4375 + 9945 = (2) 8389− 867 =

(3) 30× 639 = (4) 6646− 4712 =

(5) 14027− 8757 = (6) 1777 + 223 =

(7) 22× 57 = (8) 737× 95 =

(9) 10358− 8700 = (10) 2301 + 6136 =

� 13th-note �



� No.174-10-10 �

No.174-10-10 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 10点）

(1) 4375 + 9945 = 14320 (2) 8389− 867 = 7522

(3) 30× 639 = 19170 (4) 6646− 4712 = 1934

(5) 14027− 8757 = 5270 (6) 1777 + 223 = 2000

(7) 22× 57 = 1254 (8) 737× 95 = 70015

(9) 10358− 8700 = 1658 (10) 2301 + 6136 = 8437

� 13th-note �


